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iii)

First 15 minutes are allotted for
the candidates to read the
question paper.
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There are in all eight questions in
this question paper.

All questions are compulsory.

In the beginning of each
Question, the number of parts to

be attempted has been clearly
mentioned.

Marks allotted to the questions
are indicated against them.

Start from the first question and
proceed to the last one.

Do not waste your time over g
question you cannot spolve.
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1. T=elee 4 ¥ ok ww w51 1. Attempt any four parts of the following :
Eﬁﬁq :
a) If tan_l(%]:A, then find the
%) AR —1(§}= 3 |
B ) s A T sm2A wEn value of sin2A. 1
Ta Hifeg | 1
1 0] 'm2
1 o o’ _ b) Prove that | © w® 1|=0, where
g THgeawuifE|leo o 1|=0, W o2 1 o
0? 1 ()
1, i3
=_1 ﬁ “3:—5"'7‘ : 1
0=-z+"5. 1 |
T) 3T I H FHET TG B A OGA ¢) Find the equation of that circle
fag @ e W ¥ R emd @ which passes through origin and
F<WUS 3 T 4 FEAT ¢ 1 cuts off intercepts 3 and 4 from
‘ the axes. L
) AwEeE 2x2 -3y? =15 # |
S— . d) Find the eccentricity of hyperbola .

. 2x"£—3y2=15_ 1
) %2;&%(2,3,4;3?11{3,4,5]%#

= = FE HIAT | e} Find the distance between the

l points(2,3,4}and{3,4,5]. 1

34571 ) Turn over
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[1-23] ., [242]
aﬁA—I:__q_ 2 5}? B"_[S 5 ]]’

i AB &I H1 1T ST |

- fog =ifsw &

-1 |b___-ifa-b 2
2tan J:—cos [a+b]'

e psipar £<5x—2_7x—3 = &

2°7 3 5
ST >
w%mmmﬁﬁqm
F3(1,-3) 8 R @
Ox—y—4=0 T W F & 2

T Waog F THEHO T ifew

forsmt ¥ (0, 0) 3R AT (0, 2) ¥
| 2
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2.  Attempt any four parts of the following :

a)

b)

034571

1 -2 3 12 4 2
'IfA:[_q_ 2 S:I:B—[S 5 1]?

then find the value of AB. 2

Prove that

© wntan-l [P _ o ~1fa-b
a2tan J;—cos (_—a+b)' 2

Solve the inequality

<5x——2_7x-—37

x
273 5 2

Find the equation of that circle
whose centre is (1, -3 ) and

touches the line 2x -y -4 =¢ 2

Find the equation of the parabola
whose vertex is (0, O ) and focus is
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2x+y26, 3x+4y<12. 2
g =ifa i

3sin' x = sin“l[Sx—drxa}. 2
I cos™ x+cos_ly+cos_-*lz =7,
ar fag =it T
x2+y2+zg+2xyz=l. 2

fog #ifvie 6 @& W1 y=mx+c
W y? =4a(x+a) H TR N
iz c_=ma+%. 2
% P(3,2,-4), QO(5,4,-6) 3R
R(9,8,-10) W4 ¥, & U@ ¥1d

st e O Y@ PR # favife
FAR o 2
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3. Attempt any four parts of the following :

a)

d)

934571

Solve graphically the following

system of inequalities :

2x+y 26, 3x+4y=<12. 2
Prove that
Ssin_1x=3in_1|'3x—4x3}. 2

If cos™ x + cos™! y+coslz=n,

then prove that

x2+y2+22+2xyz.=1. 2

Prove that straight line y =mx+c

will touch the parabola

5 .
Y ‘=4C1[I+a) ifc:mq+..‘:1__ 2
m

If P(3,2-4), Q(54,-6) and
R(9,8,-10) are collinear, then find

the ratio in which Q divides the
line PR. 2
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-1 1 -1 1 -1
1 t
— 4+ tan —+tan
tan 5 5

M fag w6
- -1f 27
Siﬂ_:1 (%) + tan 1(%) = tan [TT] .3

q) w§ ddge @ @HERO W ST
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4. Attempt any three parts of the
following :
1 0 2|lix
a) If{x-5-1]J0 2 1}4 =0,
2 0 3|11
then find the value of x. 3
934571 [ Turn over
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b) Prove that

-11 al 11
tan -2—+tan 5+f,ar1 ]

c) Prove that

() s tani(2) - cani(22). 3

sin (5]+tan (SJ—tan (11 .

d) Find the equation of that ellipse
whose distance of focus from the

I
7

corresponding diretrix is 1—:;5- and

eccentricity is % . 3

fFefefes 4 9 =l dw @vel =t &=

HiIfT

%) Feehed sy fem =t srendg
faty & o1 Fifew

3x+2y<12, x21,y=>2. 3
0 - a
@) AR A= any 3R I
tang 0 '

AﬁmWﬁ%WWW%:a
fewmu fm |

rea-u-alge e s
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-13 -112 . -163
cos =+ £ = L9
gtcosTyg=sinsgs. 9
5. Attempt any three parts of the
following :

a) Solve by graphical metnod, the
following inequality system :
3x+2y<12, x21,y=22. 3

0 —tans _
b) A= 2| and Iis the
tang 0
unit matrix of the same order as A,
then show that
' coso. —sino
(I"'A}:["r“q}[sina cosa]' 3

c) Find the equation of that
hyperbola whose distance between
foci is 16 and eccentricity 1s J2. 3

[ Turn over
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d) Prove that
03, 12 g o2 3
cos”! 5 +CO5 a7 SN es
o fufefan d @ P @ 9Ts A
I

&) Faeteraa arEn e w H
Epe O & q?|'|-:~1u_ :
x+y+z=9
2x +5y + 7z =52
2x+y—-2z=0. 4

1 2 =2
g) e A=|-1 3 O Eal
0 -2 1
A™ Fd witeT | 4
6. Attempt any one part of the following :

a) Solve by Cramer's rule the
following equation system :
X+y+z=9
2x+Sy+7z=52
2x+y-z=0. | 4

934571
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b) Find A~' of the matrix

] 2 -2
A=l-1 3 0f 4
0 -2 1

ArffEn 3 @ fed@ T @E @

IV : H
o~ 2 _
ED) aiazlangqwmy-élaxﬂ

(1+xyz)(x - y)y-2z)(z=x).
4

Attempt any one part of the following :
a) If  and [, are the lengths of

segment of focal chord of a

parabola y? = 4ax, then prove that

1 1 1 4
—f—=—,
Il 12 a

934571 [ Turn over
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h)  Prove that
x x? 1+ xf
y y*> 1+y’|=
z 2% 1+z°

(1+ xyz)(x-y)(y-z)(z-x).
4
el 4 @ dl & EvE #:ORA
AT -
) = IGIEG] TOFTT FT g & AR
fafy @ &= #iw -
3x-2y+3z=28
2x+y-z=1

4.?C‘—3y+gz=4‘ 4

W) AT g el % ey g

* FRIE (1, 5, -1), (0, 4, -2) ¥R
(2, 3, 4) &, AT 30F Wi 5 oo

93457
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3. Auttempt any one part of the following :

a)

b)

Solve by the matrix method the
following system of equations :
Jx-2y+3z=8

2x+y-z=1

4x-3y+2z=4. : 4
If the coordinates of mid-points of a
triangle are ( 1, 5, -1), (0, 4, -2) and
( 2, 3, 4), then find the coordinates

of its vertices. : 4
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